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5. Which of the following is the correct expression for five and two hundred 
two thousandths? 

 
A 5,202 
B 5.202 
C 5.022 
D 5.002 
 
 
6. Choose the correct word name for 6.321. 
 
A six thousand three hundred twenty-one 
 
B six and three hundred twenty tenths 
 
C six and three hundred twenty-one thousandths 
 
D six and three hundredths and two tenths and one 
 
 
7. What is 35.982 written in expanded form? 
 

A (3 × 10) + (5 × 1) + (9 × 
10
1

) + (8 × 
100
1

) + (2 × 
1,000

1
) 

 

B (3 × 10) + (5 × 1) + (9 × 
10
9

) + (8 × 
100
8

) + (2 × 
1,000

2
) 

 

C (3 × 100) + (5 × 10) + (9 × 
10
1

) + (8 × 
100
1

) + (2 × 
1,000

1
) 

 

D (3 × 10) + (5 × 1) + (9 × 
10
1

) + (8 × 
10
1

) + (2 × 
10
1

) 

 


